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GRADE 12 ESSENTIAL —
WEEK 3 QUIZ - 23-04-13 ame.

VEHICLE PURCHASE AND STATISTICS Date:

Study Notes; ‘Cheat Sheet’. Use your (mine for now) doubled - sided
study notes (cheat sheet) to its full effect.
CLOSED BOOK henceforth. Show work / Show Method for best mark
(better marks if you make a brain fart and easier for you to organize your
thoughts). Simply stating an answer gets no mark

Round decimal answers to nearest 0.01 unless otherwise indicated.
Each individual question is worth 2 marks each.

Formulae and tables have been provided in issued courseware.

Put a check mark here: _ if you read these instructions. [1 mark]
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Useful Formulae:
Liters Used
Fuel Economy =

100 km Driven

Depreciated value of item = Original Value * retained percentageYeas
Price of Car = (MSRP + Options+ Eco Fees + etc — Trade-In) * Tax Factor
Overall Cost of Car = Down Payment + Total of Monthly Payments on Loan
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1. The fuel ‘economy’ [fuel consumption rate] of a certain two-door
convertible is 7.2 L/100 km.

a. Determine how many litres of gasoline are required to drive a
normal yearly 22,000 km. (| $@4L

$2“1‘5 1+
b. Given the cost of gasoline averages $1.479 per litre (which already 5

includes all taxes), calculate the cost of fuel to drive the convertible on ,
' : n and back). ‘éraplm'.c_ ovgaiizey
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2. Car Purchase. The car you chose costs $34,500 MSRP
(Manufacturer’'s Suggested Retail Price). You want the fancy stereo
system option for an extra $600. The car has to be shipped from Toronto
and incurs a freight charge of $750. There is an ecology ‘fee’ (excise tax)
of $100 on its air conditioner. You have no trade-in vehicle. You make a
down payment of $2,000 and finance the remainder with a loan.

a. Determine the final dealer’s price of your car with the options and
freight and ecology ‘fee.. 45

_$57
34,500 4-‘%4:70 a0+ Fpop — 0 = 3b,°| SO
e

Pt car alone

b. Calculate the final price of the car with the retail taxes included.
(7% PST and 5% GST)

$35‘)c|50 f. 1 = $"l‘0 ACH) Yo Owe
ealer with toxes



C.

Ho w Pay,

You make the down‘gayment of $2,000 and then take a loan on
the remaining balance at 8% for 5 years. Using Tables, determine
your monthly payments. Check with an App if you like.

40,364
-.1 000 _

'3%,3—64 5 amount. to Linance with Locn

20,28+ 8,365 700 =

3

=" }35 .89 month

20

d. Determine how much you ended up paying total for the car overall.
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( Munthl?}lahicle Loan Payments
per Thousand Borrowed
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Years to Repay Loan
4 . Interest
= qu.LfD Rate | [ ] [ ] [ R
s 2.00% | $85.15| 543.42| $29.52| $22.58| $18.42| $15.65
rf:S 4.25% | $85.26| $43.54| $29.64| $22.69| $18.53| $15.76
I:l ﬁlﬂe 4.50% | $85.38| $43.65| $29.75| $22.80| $18.64] $15.87
4.75% | $85.49] $43.76| $29.86| $22.92| $18.76] $15.99
b 4 2 000 00 5.00% $85.61| $43.87| $29.97| $23.03| $18.87| $16.10
MBV\ =) v 5.25% | $85.72| $43.98| $30.08] $23.14| $18.99] $16.22
Vh \ $ 5.50% | $85.84| $44.10| $30.20| $23.26] $19.10] $16.34
) 5.75% | $85.95| $a4.21| $30.31] $23.37| $19.22| $16.46
T& &l Lo 51: ﬁ(% E gq lfo 6.00% | $86.07| $44.32| $30.42| $23.49] $19.33] $16.57
_D &_m.C- 6.50% | $86.30| $44.55| $30.65| $23.71| $19.57| $16.81
$q.'.‘:"t £00 Cﬁ-l" 7.00% | $86.53| $44.77| $30.88| $23.95| $19.80] $17.05
7.50% | $86.76| $45.00| $31.11| $24.18| $20.04] $17.29
Ca.mx $86.99| $45.23| $31.34] $24.41[($20.28)) $17.53
10.00% | $87.92| $a6.14| $32.27| $25.36] $21.25| $18.53




3. Depreciation. You buy a car that is valued at $34,500. You wonder b
what your car will be worth after 12 years in case you want to trade it.in for P

a newer one. The model you bought depreciates in value at aboutéf’:% per ~ f].'}‘?ﬂ)
year, year on year (‘exponential decay’), from its original value. e o |

a. Determine the value of your car after the 12 years to the nearest GPG‘FLLH}
hundred $. Value =
b. Graph it.
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If you do Spreadsheets or use Graphing
tools it would look like this:
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4. Statistics: Determine the mean, median, mode and range of the
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following data set: {2 4,3,9,6,3, 7,5/,1 2,9}. Show work of course as

alwayst

—lnE . T

meotu&h 7( @ (mil) A P'M& uLth
i&xﬁgﬂ%} I&} ato-.{&-. Lin avole,t-

= h‘ g
5a,nol LaHth r'ﬂ.ce woulel heve (&:L’) =1

WD{?{E: MUS{ 'P"‘E mzné olo(tﬁ- UG(L-IQJO
mnj& mm: _:xmih = -4 j@



6. Problem Solving. A farmer has 60 animals, pigs and chickens. She
forgets how many of each she has, but she does remember there arel150
legs. Determme@w ma}ﬁy pl_@he farmer has. [Guess and check?

Algebra if you know it? ] ,L&GFES c\hdg Check Theseare
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BONUSES (one mark each if you need them)

1. Convert: Determine the number of minutes in six weeks.

Just heEP sy Succesive conversion Jactors
(Gradke 10)

Just keep 'whittling' down the
units
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2. Problem Solve. Your truck had an initial value of $70,000 when you
bought it. It depreciates (‘exponential decay’) at a rate of 25% per year.
When it gets down to a value of $10,000 you are going to give it to your
favourite nephew, Jarrod. Determine how many years it will take for the
value of your truck to get down to $10,000 value give or take a couple
hundred bucks. [Solve by guess and check or by any method you may
have learned in other math courses] AkL! -T'L;,hl—,_,;h..a f 1’

Guess 8 Chec k"t 70000 - 0.75°
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2. Problem Solve. Your truck had an initial value of $70,000 when you
bought it. It depreciates (‘exponential decay’) at a rate of 25% per year.
When it gets down to a value of $10,000 you are going to give it to your
favourite nephew, Jarrod. Determine how many years it will take for the
value of your truck to get down to $10,000 value give or take a couple
hundred bucks. [Solve by guess and check or by any method you may
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have learned in other math courses]

Graphing is good way too! Did some in Grade 11!
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That is the Week 3
Quiz Debrief

Do not miss too many Quizzes,

they have a Double Weight Factor

LOAD CLEAR!
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